
1 

 

 

       

 
     le,‚h úYajúoHd,h -- iudÔh úoHd mSGh 

Ydia;%m;s$iudcSh úoHdm;s mdGud,dj  2015 

jd¾Isl mÍlaIKh  ^2016 Tlaf;dan¾$fkdjeïn¾& 

wd¾Ól úoHdj 

ECON 53055/ECON M 5.2   :  uQ,H wd¾Ól úoHdj iy rdcH uQ,H

tla fldgilska m%Yak fol ^02& ne.ska f;dardf.k  

m%Yak y;rlg ^04& muKla ms<s;=re imhkak' 

m%Yak ixLHdj : 08 hs'                                                                     ld,h : meh 03 hs'            
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     le,‚h úYajúoHd,h -- iudÔh úoHd mSGh 

Ydia;%m;s$iudcSh úoHdm;s mdGud,dj  2015 

jd¾Isl mÍlaIKh  ^2016 Tlaf;dan¾$fkdjeïn¾& 

wd¾Ól úoHdj 

ECON 53065/ECON M 5.3   :  jHdmD;s we.hSu iy l<ukdlrKh

m%Yak y;rlg ^04& muKla ms<s;=re imhkak' 

m%Yak ixLHdj : 07 hs'                                                                     ld,h : meh 03 hs'            

___________________________________________________________ 
 

' '

(Willingness to Pay) 

(Financial Analysis) 

(Economic analysis)  
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i. OECD  UNIDO  

ii. OECD  UNIDO  

10% 

(RBME).   

(Indicators)  
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     le,‚h úYajúoHd,h -- iudÔh úoHd mSGh 

Ydia;%m;s$iudcSh úoHdm;s mdGud,dj  2015 

jd¾Isl mÍlaIKh  ^2016 Tlaf;dan¾$fkdjeïn¾& 

wd¾Ól úoHdj 

    ECON  53075 / ECON  M 5.4  :  iïm;a wd¾Ól úoHdj iy iajNdúl iïm;a   
     l<ukdlrKh 

m%Yak y;rlg ^04& muKla ms<s;=re imhkak' 
 

m%Yak ixLHdj : 08 hs'                                                                     ld,h : meh 03 hs'            
___________________________________________________________ 
 

' '  (Environmental Balance) 

' '  

 ' '  

(Ricardo)  

(Von Thunen)  
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( i ) 

( ii ) 

Ee ,  En E0  

" 

"   

i. 

ii. " 

"  

   i. (Transaction cost)  

    ii. (Coase theorem) 

   iii. 

iv. 

v. (Tragedy of the commons) 

   vi. (User cost) 
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     le,‚h úYajúoHd,h -- iudÔh úoHd mSGh 

Ydia;%m;s$iudcSh úoHdm;s mdGud,dj  2015 

jd¾Isl mÍlaIKh  ^2016 Tlaf;dan¾$fkdjeïn¾& 

wd¾Ól úoHdj 

ECON  53085 / ECON  M 5.5  :  cd;Hka;r fjf<|du iy fjf<| m%;sm;a;s

´kEu m%Yak y;rlg ^04& ms<s;=re imhkak' 
 

m%Yak ixLHdj : 08 hs'                                                                     ld,h : meh 03 hs'            
___________________________________________________________ 
 

"

"  

H = 0  

- (H - 0) (Complementary theory) 

(Rybczynki) 

" 

' ' " 

(Monopolistic Competition) 
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(small country) (large country) 

(FTAs) 
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     le,‚h úYajúoHd,h -- iudÔh úoHd mSGh 

Ydia;%m;s$iudcSh úoHdm;s mdGud,dj  2015 

jd¾Isl mÍlaIKh  ^2016 Tlaf;dan¾$fkdjeïn¾& 

wd¾Ól úoHdj 

             ECON 53095/ ECON M 5.6  :  wd¾Ól ñ;sh

´kEu m%Yak y;rlg ^04& ms<s;=re imhkak' 

m%Yak ixLHdj : 07 hs'                                                                     ld,h : meh 03 hs'            

___________________________________________________________ 

Y = 𝛽0  +   𝛽1 X1 + 𝛽2X2 + Ui  : (𝛽0) 

( 𝛽1 𝛽 ) 

(Y),  (X1) (X2) 

∑ 𝑌 = 40.2 ∑ X1 =  62.3     ∑ X2 =  22.8       ∑ 𝑌2 = 756.9 ∑ 𝑋1
2 = 1821.6 

 ∑ 𝑋2
2 = 23.3 ∑ 𝑋1Y = 1174.1   ∑ 𝑋1X2  = 647.5     ∑ 𝑋2Y = 417.1    n =  22 

 

   

 

 (2SLS) 
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c  i   y   

               𝑦−1     g  I   

C    =   𝑎1 I  +  𝑎2 y + 𝑒1 

  i     =    𝑏1 I + 𝑏2  (y - 𝑦−1) + 𝑒2 

  y    =    c + i + g 

  c, i   y  
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(Y)  

(Ld), (Lb)  (F) 

-

  

Model summary 

Model R R2 R-2 D-W 

Statistic 

1 0.988 0.976 0.967 2.160 

 

ANOVA 

 

Model Sum of  

Square 

d.f. M SS F Sig. 

Regression 

Error 

0.548 

0.013 

3 

8 

0.183 

0.002 

108.562 0.000 

Total  0.562 11    

 

  Dependent variable:  In  Y 

  Predictor variables:  In F, InLd,  InLb   

Coefficients  

Model B  Std. Error t Sig. 

(Constant) 

Ln Lb 

InLd 

InF 

5.258 

-0.124 

0.441 

0.184 

 

0.295 

0.111 

0.087 

0.036 

17.821 

-1.116 

5.061 

5.129 

0.000 

0.297 

0.001 

0.001 
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    i. 

ii. 

iii. 

iv. 

v. 

vi. 𝑌̅ = 306.58,   𝐿𝑑
̅̅ ̅ = 2.96,    𝐿𝑏

̅̅ ̅  = 22.92     𝐹 ̅̅ ̅̅  = 9.27

(Y) (X1),  

  (X2),   - (D1)  

(D) 

Yi = 2380 + 2400X1 + 0.74X2 + 1300D1 + 2100D2 + 3600D3 

          Sig.= (0.000)  (0.020)   (0.000)    (0.005)     (0.035)     (0.000) 

 

  Yi   =  i  

X1i  =  i   

X2i  =  i  

D1 =   

=  0  

D2  =  

=  0  

D3 =  

= 0  
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   i. 

ii. 

iii. (MPC) 

iv. 

v. 

' 

'  ( Heteroscedasticity) 

' '  

 

t  

R2 F 
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Faculty of  Social  Sciences -  University of  Kelaniya 

   MA/MSSc  Course  - 2015 

Year End Examination  (October - November  2016) 

Economics (English Medium) 

               ECON  53065/ ECON  M 5.3 - Project Analysis and Management 

    Answer Four (04) questions only. 

No. of Questions  :  07                                         Time : 03  hours 

 

01. Describe various stages of project cycle with special reference in how project 

 formulation, monitoring and impact evaluation components are so important for 

 implementing an effective development plan for a country. 

 

02. Explain the advantages of using Logical Framework Approach (LFA) for project planning 

 and management in developing countries. 

03. Explain 

    i. What are the difference between static analysis and dynamic analysis? 

   ii. What are the key difference between financial and an economic analysis? 

 

04. Describe what cost-benefit analysis (CBA) is and explain briefly, the evaluation process to 

 be followed by project planners for CBA. 

 

05. Explain what social cost benefit analysis is and describe how compute Net Present Value 

 (NPV) of social benefits by using shadow discount rates.  Explain with hypothetical 

 examples. 

 

06. Draw a network diagram for the information given below in relation to activities and 

 immediate predecessors for the proposed computerized information system by the 

 University of Kelaniya for 2016. 
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OR  

 

 

 

 

 

 

 

 

Activity Description  Immediate 

Predecessors 

Duration (Weeks)  

H 

I 

J 

K 

L 

M 

N 

O 

P 

Q 

R 

S 

T 

U 

V 

W 

X 

Y 

Z 

Basic design 

Hardware design for A 

Hardware design for B 

Drawings B 

Software specifications 

Parts purchase for A 

Parts purchase for B 

Drawings for A 

Installation drawing 

Software purchases 

Delivery part for A 

Delivery part for B 

Software delivery 

Assembly of A 

Assembly of  B 

Test A 

Test B 

Final installation 

Final System Test 

 

- 

H 

H 

J 

J 

J 

I 

I 

I,J 

L 

M 

N 

Q 

O,S 

K,R 

U 

V 

P,W,X 

Y,T 

10 

8 

6 

4 

2 

4 

4 

5 

5 

5 

5 

3 

3 

1 

5 

2 

3 

8 

6 
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 Explain what symbols should insert in to the blank space in the box in order to accept the  

 project and give reasons. 
 

   

 

 

 

 

 

 

 

 

07. "Most important steps in evaluating and analysis alternatives projects for select the best 

 investment ".  Critically discuss. 

Criterion 

 

Accept 

PBP 

ARR 

NPV 

IRR 

B/C Ratio 

PBP                 Target Period 

ARR                 Target Rate 

NPV                 0 

IRR                  Cost of Capital 

B/C R               1 
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Faculty of  Social  Sciences -  University of  Kelaniya 

   MA/MSSc  Course  - 2015 

Year End Examination  (October - November  2016) 

Economics (English Medium) 

ECON  53095/ ECON  M 5.6 - Econometrics 

    Answer Four (04) questions only. 

No. of Questions  :  07                                         Time : 03  hours 

 
 

01. Y =  𝛽0  +   𝛽1 X1 + 𝛽2X2 + Ui   use this multiple regression line and derive simple 

 equations to estimate  𝛽0,  𝛽1,  and  𝛽2   

 

02. Following are the data for Consumption (Y), Income (XI) and Investment (X2).  By using 

 these data and matrix method estimate the multiple regression relationship. 

  

 ∑ 𝑌 = 40.2 ∑ X1 =  62.3     ∑ X2 =  22.8       ∑ 𝑌2 = 756.9 ∑ 𝑋1
2 = 1821.6 

 ∑ 𝑋2
2 = 23.3 ∑ 𝑋1Y = 1174.1   ∑ 𝑋1X2  = 647.5     ∑ 𝑋2Y = 417.1    n =  22 

 

03. (a) Why the method of OLS is not applicable to estimate the structural equations in a  

  simultaneous equation model. 

 

 ( b ) Why is it unnecessary to apply the 2SLS method to estimate exactly identified  

  equations. 

 

 ( c ) Consider  the following macroeconomic model where c is consumption  i  is  

  investment y is income 𝑌-1   lagged income g is government  expenditure. 

 

 and  I is a vector of ones. 

 C  = a1  I  + 𝑎2 y = 𝑒1  

 i  =  b1  I + b2 (y - 𝑦−1) + 𝑐2 

 y  =  c + i + g 

  

 C, i  and  y are endogenous variables Solve for this reduced form equations. 
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04. a. Distinguish between linear and non-linear regression models with appropriate  

  examples. 

 

 b. Transform a non-linear regression model given above so as to estimate by the OLS 

  method. 

 

 b. Following results are related to the Cobb-Douglas function fitted for the data  

  collected from 12 farmers on the yield of paddy (Y) and the factors land extent  

  (Ld), labor (Lb) and fertilizer (F) which affected on the yield. 

 

Model summary 

Model R R2 R-2 D-W 

Statistic 

1 0.988 0.976 0.967 2.160 

 

ANOVA 

 

Model Sum of 

Square 

d.f. M SS F Sig. 

Regression 

Error 

0.548 

0.013 

3 

8 

0.183 

0.002 

108.562 0.000 

Total  0.562 11    

 

   Dependent variable:  In  Y 

  Predictor variables:  In F, InLd,  InLb   

Coefficients 

Model B Std. Error t Sig. 

(Constant) 

Ln Lb 

InLd 

InF 

5.258 

-0.124 

0.441 

0.184 

0.295 

0.111 

0.087 

0.036 

17.821 

-1.116 

5.061 

  5.129 

0.000 

0.297 

0.001 

0.001 

  

 Dependent variable:  In Y 
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Employing above model, 

    i. Test the goodness of fit of the model. 

   ii. Examine the autocorrelation of the model 

  iii. Test the statistical significance of the slope coefficients 

  iv. Interpret the model. 

   v. What can you say about the returns to scale of the production process? 

 vi. If  𝑌̅ = 306.58,   𝐿𝑑
̅̅ ̅ = 2.96,    𝐿𝑏

̅̅ ̅  = 22.92   and   𝐹 ̅̅ ̅̅  = 9.27 calculate the marginal 

   productivity of Land, Labor and Fertilizer. 

 

05. ( a ) What do you mean by dummy variables?  Describe the usefulness of these  

  variables in analyzing the economic relationships with appropriate examples. 

 

 ( b ) Following model was fitted for the data collected from 300 randomly selected  

  households from the 3 sectors  i,e. urban, rural and estate to analyze the effects of  

  Household size (X1), Monthly income (X2), Gender of the head of the household  

  (HOH) (D1) and the sector the household is living (D), on the Average monthly  

  consumption expenditure per capita (Y). 

  

Yi = 2380 + 2400X1 + 0.74X2 + 1300D1 + 2100D2 + 3600D3 

          Sig.= (0.000)  (0.020)   (0.000)    (0.005)     (0.035)     (0.000) 

 

 Where  𝑌𝑖  =  Average monthly consumption expenditure per capita of ith  household 

  X1i =   Average household size of ith household 

  X2i =  Monthly  average income of the ith  household 

  D1 =  if the HoH is male 

       =  0  otherwise 

  D2 =  if the household belongs to rural sector 

       = 0  otherwise 

  D3 = if the household belongs to urban sector 

       =  0 otherwise 

 

     i. Identify the benchmark categories 

    ii. Test the statistical significance of the estimated coefficients. 

   iii. What is the Marginal propensity to Consumption (MPC)? 

   iv. Examine whether there is any differences of consumption expenditure  

   among Sectors. 

    v. Interpret the estimated model. 
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06. ( a ) Introduce the heteroscedasticity which emerge in linear regression model as a main 

  problem and explain how it becomes a problem.  

 

 ( b ) Discuss two tests to detect heteroscedasticity  and appropriate remedial measures. 

 

07. ( a ) When you examine the results of a linear regression model if you can observe that 

  one or more of the partial  slope  coefficients are  individually insignificant on the  

  basis of   the test   but  high  R2 
 value and F test is  significant what would  be  the 

  problem associated with this model ?  Discuss. 

 

 ( b ) Explain two tests to detect the above problem and discuss the possible remedial  

  measures. 

 


